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(5) Question 1. Value (resolution is2°, which equals 1/8) if the integer is25? | 25/8=3.125 |
(4) Question 2. The debugger itself causes the system to operate abnormally. | I) intrusive |

(4) Question 3. A type of logic in which the output can be low or off.

| J)open collector |

(4) Question 4. fixesall itsinputsto specific values and can be repeated over and over. | 0) stabilize |
(4) Question 5. A type of logic in which the output can be high, low, or off. | K) tristate |
(4) Question 6. Latency issmall and bounded. | O) redtime |

(5) Question 7. A signed fixed-point system has a range of values from -10.00 to 10.00 with a
resolution of 10°. Note: 10 equals 0.01. With which of the following data types should the

software variables be allocated?

Precision is
2000, signed
F)short

(20) Question 8. Design aminimal-cost positive-logic address decoder for Your Devicein the following system.

RAM $6000-$6FFF 0110, XXXX, XXXX, XXXX needs A12
YourDevice $7000-$7FFF 0111, XXXX, XXXX, XXXX
ROM $EOO0-$FFFF 111X, XXXX, XXXX, XXXX needs A15
Select = not(A15)*A12
A12
A1\ 0 1 A15 Select
0191 A12
1|00

(25) Question 9. There isa 32k by 8 bit PROM interfaced to a6811 running at 2 MHz as shown below

RDA =(?/CE+120, ?/CE+20)
=(t+t,+5+120, t;+5+20)
=(250+5+120, 500+5+20)
=(375, 525)

RDR = (t;- t4- ti7, ty + tygn)
=(500 - 10 - 30,500 + 10)
=(450, 510)

(25) Question 10. Write one function that receives asingle ASCII character from the SCI with echo.

(10) Pal‘ta) PI’OtOtypeSOf //************SCI _I nQJt *khkkkhkkkhkkkkkkkx
public functions go in the /1 Receive from SCI with echo
SCl . hfile /1 lInputs: none
/1l Qutputs: returns ASCI|I code of new received data

unsi gned char

SCl _I nQut (voi d);

(15) Part b) Implementations
and any private variables

SCl . c file /1 Qutputs: returns ASCI| code of new received data

unsi gned char SCl _| nQut (voi d){

unsi gned char dat a;
while((SCISRL & RDRF) == 0){}; // 1) wait receive
data = SCI DRL; /1l 2) receive
while((SCISRL & TDRE) == 0){}; // 3) wait trans
SCI DRL = dat a; /1 4) transmt
return data,; /1 B) return

//************SCI Inmt************

/'l Receive from SCl
(none needed here) gointhe | //

with echo

| nputs: none
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